
	
  

Enigme	
  1	
  :	
  A	
  chaque	
  pays	
  son	
  drapeau	
  

Le	
  Myanmar	
  (drapeau	
  1)	
  ;	
  La	
  République	
  Tchèque	
  (drapeau	
  3)	
  ;	
  Les	
  Bahamas	
  (drapeau	
  2)	
  ;	
  Le	
  Panamá	
  (drapeau	
  4)	
  ;	
  
le	
  Togo	
  (drapeau	
  6)	
  et	
  le	
  Danemark	
  (drapeau	
  5).	
  

Enigme	
  2	
  :	
  Les	
  cubes	
  

Cet	
  assemblage	
  est	
  composé	
  de	
  786	
  cubes.	
  

Enigme	
  3	
  :	
  Comme	
  les	
  Dalton	
  

	
   Age	
   Taille	
   Poids	
  
Paul	
   19	
  ans	
   1,82	
  m	
   75	
  kg	
  

Jacques	
   17	
  ans	
   1,70	
  m	
   62	
  kg	
  
David	
   15	
  ans	
   1,58	
  m	
   49	
  kg	
  
Bruno	
   13	
  ans	
   1,46	
  m	
   36	
  kg	
  

	
  

Enigme	
  4	
  :	
  Un	
  peu	
  d’histoire	
  romaine	
  

Une	
  légion	
  romaine	
  est	
  composée	
  de	
  5284	
  hommes.	
  

Enigme	
  5	
  :	
  Les	
  triangles	
  

Il	
  y	
  a	
  24	
  triangles.	
  

Enigme	
  6	
  :	
  Qui	
  est	
  le	
  plus	
  rapide	
  ?	
  

L’animal	
  le	
  plus	
  rapide	
  est	
  le	
  cheval	
  qui,	
  au	
  galop,	
  court	
  à	
  60	
  km/h.	
  

Enigme	
  7	
  :	
  La	
  course	
  de	
  haies	
  

La	
  longueur	
  de	
  la	
  course	
  est	
  80	
  mètres.	
  

Marion	
  a	
  réalisé	
  6	
  foulées	
  entre	
  deux	
  haies.	
  

Enigme	
  8	
  :	
  Allumettes	
  (1)	
  

Trois	
  solutions	
  étaient	
  possibles	
  :	
  

• 3	
  +	
  3	
  =	
  6	
  
• 8	
  –	
  3	
  =	
  5	
  
• 9	
  –	
  3	
  =	
  6	
  

Enigme	
  9	
  :	
  Une	
  croissance	
  extraordinaire	
  

Le	
  gra	
  correspond	
  à	
  5	
  cm.	
  

Solutions	
  CM	
  



Enigme	
  10	
  :	
  Développement	
  durable	
  

La	
  famille	
  économisera	
  520	
  L	
  d’eau	
  par	
  jour	
  en	
  prenant	
  une	
  douche.	
  

La	
  famille	
  économisera	
  environ	
  16	
  000	
  L	
  d’eau	
  par	
  mois	
  (15	
  600	
  L	
  pour	
  30	
  jours	
  et	
  16	
  120	
  L	
  pour	
  31	
  jours).	
  

Enigme	
  11	
  :	
  Allumettes	
  (2)	
  

La	
  solution	
  est	
  :	
  6	
  –	
  6	
  =	
  0	
  

Enigme	
  12	
  :	
  Placement	
  à	
  table	
  

	
  

	
  


